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880 foreY gl dler 880 &l
IHAT 10% Al,O, Haihl 880 Fsil x 10/100

= 88 il Al0O, g

PAC AT 28% Al,0,§+3
88 &ail Al,O, as‘r aTﬁr Iifgd PAC = 88 x
100/28 = 3143»?& = 314/25 = 12.56 SITT

=> gl X 13 ST g

13 OTET = 13 x 25 = 325 il

FHTH AT T
Aoy = 880 farexX
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325 il PACHT ALO, = 325 x 28%=
325 x 28/100 =91 it
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ST / fex

=> 910 &sit 10% Al,0,
HITHAR! AT =
910/1.19=765 farex
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PACSY 1 %;ﬂm:r

PAC HT 28% Al o ;70
28% x 10,000 fir ar./ferex
= Al,O, %Y 2,800
ﬁr.m./ﬁu
= 2,800 ppm

(ppm=10 SITEHAT Th HTI)

IR e¥e: 1 faex

918 #ATET: 5 ppm = 5 ml/L
Al,O, : 5 f&. 3. /fereT x 0.28 = 1.4 f&A.am.

UTsilsh] el : 10,000 ©.1H. /{1, PAC QIH : 10% Al,0, TR, FTHHI Telcd =1.19
FlY/ frex, Tfger 6T 5 AT/ fReT

=> Al,0, 1.4 .3, /fex = 1.4 911,/ ..

10,000 Er.ﬁr./ﬁ?r x 1.4 I1./ €.F7. = 14 &S/ & ALO,

=> 14 Fail/ & Al,0,/0.1/1.19 = 118 fAeY/RA = 4.9 forey/a=er
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fAear =
. o s . 300 740 faex
440 ?»?IET

g3 et

4.4sITT (176 il ST g T
Sl 20% ATSH HTH!
Are[HeTh Helcd =1.19
880 fereTah! 3MTeT 403 faeY QT3 St/ faeT
(440 forex) wr=ht atehT (403 - 240 = 163 | | 880 Foll HieTaeThI
GO frex) urelt grea %‘I:;Iﬂ'—SSO/llQ 740

20% ITSH SHed« 880 faey qI=THT
COIRDE
880 dholl x 20% = 176 Foil ATSH

N

1 ST = 40 Fsil ASH
176 fhell SITSH = 176/40 =>4.4
1T
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0 10 PAC mg/L 20 30 Hligel Hedhlaferel: 20 .37, /forex
20 Alkalinity PAC 10% o &I Al,O,
Hedlafarer : 0.15 f&.3m. /frex
%D 20 ‘\"\.\" 4 |l @
. :
0 10 PAC mg/L 20 30 gifgsl AET: 5 ppm
el : 5 mg/L

Fell : 10,000 m3/feeT, ATSH AITHT: 20% ATSH HITHT HI Heled =1.19
Tifger ATE: 5 A, 1. /fae >3|'Ié'iFI' 5mg/L= 53JT / m3

10,000 m3/f&eT x 5 AT./ m3 = 50 FaA1/feeT 20% ASH

=> 50 ail/fee Cl, /0.05 /1.1 = 909 fareT/fGa= 37.9 fret/a=er




1% FARIA HTHT T3 Alfgel AT APTera T

> 1 sgrer e yssta! dler = 25 &at

> fedafer a3stAT Falldd AT = 35%
—>1Wﬁ|ﬁwmeﬁwﬂﬂma’la 25 x

35/100 = 8.75 il

> gIHITE Iifge FARTdh! Gadcd = 1% = 1 il
FaRleT 9fad 100 ferex (=100 &<il) o

YT

=>8.75 heil FaRA (1 sgmer fearf@er gr3sy) ufa 100

x 8.75 fareX gl = 1% FT Gl

rYar

1 <O oA 9I33T YAT 9l STFAT 875 fareX
TA13eT 1% FARITR DT do G|
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875 faretah qUA YTl = JHCIC 875
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Fellle HART 98707
Hifger #AET: 5 AT FaT (cl,)
gfa forex arfie




Felllel: AT O80T / ATAT fAreriRor

> qT=il ; 10,000 .77/,

> FARIeAR! 8Yel: 1 % Folile (Cl,) TR

> "HYelhl Uelcd =1.0 => 1.0 Hal/faex

> QIATAT difgar ATAT: 5 AeNmaA/eleT => 5,000
fareiama/1,000 forex => 5 amH/A. &Y.

> 10,000 .7A./f&T x 5 IA/F.fA. =50, 000 ITH/S
FARIT (Cl,)=> 50 dait/feeT FarlsT (CL)

> FARITR! GIFdAT 1% FARNT (Cl,) TR 100 ferex
°IeTHT 1 ol FARIT => 1 Hsil FaRT A8 100
forex aYer TifRsr
=> 50 Sail FARIAT (Cl,) HT AT =ATfgeT °el = 50x100
= 5,000 forex
=> 5,000 forex/fesT = 5,000/24 =208 forer/=er




